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Question # 1
Write the first four terms of the following sequences, if

(i) a,=2n-3 (ii) a, = (-1)"n*
(viii) a, =na, ,, a=1 (x) a, =m
Solution
(i) a,=2n-3
Putn=1
a,=2(1)-3 = aq=2-3=-1
Put n=2
a,=2(2)-3 = a,=4-3=1
Put n=3
a,=2(3)-3 = a,=6-3=3
Put n=4
a,=2(4)-3 = q=8-3=5
Hence -1, 1,3, 5 are the first four term of the sequence.
(ii) a,=(-)"n’
Put n=1
a, = (=" 1) = a==h0)=-1
Put n=2
a,=(-1’ 2} = a=01)4)=4
Put n=3
a,=-)’3)? = a=(-D®=-9
Put n=4

a, =(-1? 4)? = a,=(1)16)=16
Hence -1,4, -9, 16 are the first four terms of the sequence.

(iii), (iv), (v) and (vi) Do yourself as above.

(vii) a,—a, ,=n+2, a=2
Put n=2
a,—a, ,=2+2 = a,-a=4 = a=4+a=4+2=6 - aq=2
Put n=3
a,—a,,=3+2 = a,—-a,=5=> a,=5+a,=5+6=11 v a,=06
Put n=4
a,—a, =4+2 = a,-a,=6 = aq,=6+a,=6+11=17 -~ a,=11

Hence 2,6, 11, 17 are the first four terms of the sequence.

(viii) a,=na,,, a=l1
Put n=2
a,=2)a,, = a,=2a =21)=2 wa =1
Put n=3
a=3)a,, = a,=3a,=3(2)=6 va,=2
Put n=4

a,=4)a,, = a,=4a,=4(6)=24 v a,=6
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Hence 1, 2, 6, 24 are the first four terms of the sequence.

(ix) Same as above
x) a,= ;
a+(n—-1d
Put n=1
1 1 1
al o o al — — -
a+(1-1)d a+0)d a+0 a
Put n=2
1 1 1
a,=— = a,= =
©oa+(2-d “oa+(hd a+d
Put n=3
1 1 1
a,=—————— = a,= =
a+(3-1d a+(2)d a+2d
Put n=4
1 1 1
a4 = =29 a4 = =
a+(4-d a+(3)d a+3d
Hence l, 1 . 1 . 1 are the first four terms of the
a a+d a+2d a+3d
sequence.
Question # 2
Find the next two terms of the following sequences;
@) 260117 s a, G LB 260 o ag
—— .
(iii) I,E,Z,g, ............. a, L L=35: 7.9, sovviveninn ag
(v) 1,-3,5,-7,9,—11,............. a
Solution
G 2.6 L1 s a,

We see that the successive difference of the given terms are 4, 5, 6 and conclude
that sequence of the differences is 4, 5,6,7,8,9,..........
So a;=17+7=24, a,=24+8=32 and a,=32+9=41
Thus the required term is a, =41

(ii) 1,3, 12560 505 05nns00 a,
We see that the successive multiplying factor are 3, 4, 5 and conclude that the
sequence of multiplying factorsis 3,4,5,6,7,8,9.............
So a;=60x6=360, a,=360x7=2520
Thus the required term is a,=2520

(iii) égl ............. .
248
The successive terms in numerator are 1, 3, 5,7, ...ooovvennnn. , which are the
consecutive odd numbers and next terms are 9, 11, 13.
And the successive terms in denominators are 1,2, 4,8, ............. with

common ratio 2, so the next terms are 16, 32, 64.

Thus the required term is a, =5

@iv) L1,-3,5-7,9, ccooreerrenne a, *Correction
We see that the common difference of odd terms is -4, so a,=—7 +(—-4)=-11

www.allresult.pk




AllResult.pk Exercise 6.1

And the common difference of even terms is 4, so q,=9+4=13
Thus the required term is a,=13

) | Il A St i I— ag
We see that the common difference of odd terms is 4, so a,=9+4=13.
And the common difference of the even terms is -4, so g,=—11+(—4)=—15
Thus the required term is a,=—15

Question # 3
Find the next two terms of the following sequences;
() 790216 (TR o [ 1| P—
(ii) —1,2,12,40,..cs000000 (V) 1=3,5,—7.9, =1 L,corsssvmivns
Solution
) T 21 T 8
We see that the sequence of the successive difference is 2, 3, 4, ........ so the

next two differences are 5 and 6.
Thus the next two terms are 16 +5 =21 and 21 + 6 =27.

(ii) L, 3: 7158 Lsisvnveviasnns
We see that the sequence of the successive difference is 2,4, 8, 16, ......... SO
the next two differences are 32 and 64.
Thus the next two terms of the sequence are 31 + 32 = 63 and 63 + 64 =
127.

(iii) LB I A0, s

The sequence of the above terms can be written as
—Iixl, 12, 34, 5X8,.cviviivinnss

So the next two terms are 7x16=112 and 9x32=288.

@iv) 1;=3.9:—T:9 =11, s
We see that the common difference of odd terms is 4, so a,=9+4=13.
And the common difference of the even terms is -4, so ag,=—11+(—4)=-15
Thus the next two terms are 13 and -15.
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